B AIER I AN SHERES

EITHIEX 5T5H4
NO.1 ZE /4 A

O RDEIL AR EHE/S
(M i 2 = 2

3 oo
x — 3y = -6
(2) 1 1 _
T Tz -8
X+2y= -7
(3) 3 (x + y ) = 2 x — 1
ZX— y = 12
(4) 1 1
- + = 2
6 2 Y
08 x — 03 y = 09
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mE

(1) =EFTEL

- ) x — 3 = -6 )
-3y =12
y = -4
y = -4 #DOICKALT,
X — (-24) = 6
x = -18
( x, y)=100-18, -4)
(2) 2 x — 5 y =40 )
- ) 2 x + 4 y = -14 --©
-9 y = 54
y = -6
y = -6 #DOIZKALT,
2 x - ( 30 ) = 40
2 = 10
= 5
( x., y) ( 5 , -6)
(3) { x + 3 y = -1 ®
2 x - y = 12 ®
®x2 - @
2 x + 6 y -2
- ) 2 x - y 12
7 y = -14
y = -2
= -2 #OIKALT
+ 3 X -2 = -1
x = 5
( x, y)=065, -2)
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(4) BETHE

— x + 3 y = 12 -0
+ ) 8 x — 3 = 9 @
7 x = 21
X 3
x = 3 ZODITRKALT,
- 3 + 3y = 12
y = 35
(x, y)=06 3, 5 )
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